:5: e TR e AL-22

ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE UNDERWRITING
g : 3 6 ) : (e 3F : 100
Time: 3 Hours} [Total Marks : 100

foreft a8 wvHl & I R 1 v wew & 16 3w € g g e A ) e
it ydw uw 12 dimH
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. U9 Amel B qUeRT o e e w g I a wsag 1 16
1. Explain the types of cases, where presence of Moral Hazard may be 16
suspected ? _
2. fm w wiftre Rafmaf fifge - (F % 4 3()
&) e afeemsi & S
)  ufor F ads
%) 3 e (92F) R v Prft @t @ an vl @ &1
2. Write short notes on :- 4 each

i)  Insurance of Pregnant Ladies
it) Methods of Rating
iii) Factors on which insurability depends or governed .

3. HeH gAY (9% F 3 3FF)
1) 9T<T (Rectal Fistula)
ii) w=If9 (Dyspepsia)
iii) ToaHga (Haematemesis)
iv) &&= WY (Colitis)

3. Describe briefly :- ’ 3each:
i)  Rectal Fistula
it) Dyspepsia
iii) Haematemesis
iv) Colitis
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for feaftaw =1 diid Hed ST ;- ' (7% ¥ 4 3iF)
i) T WY (Cystitis)

ii) FEY (Dysuria)

iii) &l f@E T (Kidney Removal)

Give underwriting significance of :- 4 each
i)  Cystitis :

il) Dysuria
-i1i)) Kidney Removal

QIR i & T Wy R § 7 . 12
What are the salient features of Partnership Insurance ? 12

¥d A (Keyman) $17 2 7 ‘@)-27" i & sienta yearas a7 @ar & sk ‘&t 12
A frFREFE?

Who is a Keyman ? Who is a proposer under keyman Insurance and what 12
are the objects of keyman insurance ?

forer e wiftr fraftrat ik - (5% ¥ 4 37%)
i) o g

i) $dsh

iil) W T Ry

Write short notes on :- 4 each
1) X - Ray of Chest

i) ECG

iii) Routine Urine Analysis

Tegiha weafa 3k sw fagfoed i W sy | 12

Describe briefly Respiratory System and the impairments . 12




3 o AL -22
(IS F 6 37F)

9. F) mmmﬁmwmmﬂ% TR TE HRY |
@) o R i 8, S e € e g - et R |

9. a) Plan proposed is also an important underwriting factor : Discuss. 6 each
b) Higher the age, premium is higher - Discuss.

10. Wm%mwmwﬁﬁnﬁmaﬂwﬂm%:- _ 12

&) wfgen e - g2/ wfyERa
@) A - Hag werrR wiferes § sl
M) aGemeiReEy 00 - w9 e 20 aif aaﬁ
) yegqdman - wSEW
Cw) @ - w3
¥) wiaRsgw - oy A Shfe
B) =REmIW - i) HEEaEE
' i) & 919 120/80
' iii) HI g ewgor il
mm%mwm%‘aﬁzmmwmaﬂmm
4
10. Following information is available from the proposal for Life Insurance 12
a) FemaleLife - Age 22, unmarried
" b) Occupation - OfficerinBMC »
c) Plan and Term - Money back with 20 years term
d) Sum Proposed -~ Rs. 5 lakhs A
e) Previous Insurance -~ Rs.3lakhs ;
f)  Family History - Both Father/Mother alive
g) Personal Condition - i) Standard weight

ii} BP 120/80

iii) No adverse features
What are the requirements for thc above ‘proposals and give your
underwriting decision .
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MAY, 2007

ASSOCIATESHIP EXAMINATION
APPLICATION OF LIFE ASSURANCE
o ;3 He ] : [ 3 : 100
Time: 3 Hours] ' [Total Marks : 100
Rrdl 318 Y¥AT % IR AT | AT YT F 16 37 & g are arferard =T €1
s gt v av 12 3w H T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
‘compulsory. All other questions carry 12 marks each. :

'

Marks
1. e R e Rl fafa - AT F43W)
¥) §ERE '
@) =t ,
) e el & fam
¥)  haA & e  nfvea
1. Write short notes on :- . k 4 each
a) Assignment
b) Net premium
¢) Law of large numbers .
d) Consideration in Life Insurance Contract.
2. ®) e vy s & T S ) ol Rafi @ as @ - wEEIRT | 5
|) ST - S dv i whw A 3R Pfdwd ? 7
2. a) "The Reserve" in life Insurance business indicates the financial 5
strength of the Company - Explain .
b) State how the Reserve is created in Life Insurance business . . 7
(IRAF F 6 3i)
3. &) @hm%mﬁﬂmaﬁtmmf&m@mﬁﬁ%@m
27 : ) :

tqj o e i R T i w wer dRa A e gd g ?
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a) Enumerate essentials of valid Contract and discuss how it differs 6 each

from an Agreement. .
b) In what way the insurance contract differs from general contract ?

ﬁqﬁmmﬁtmmmaﬂhm: (AT H43)
%) dus R A

@) S A

M) - el

Describe the salient features of the following plans ‘ 4 each

a) Mortgage Redemption plan
b) AmulyaJeevan
¢) Jeevan Tarang

F) wg dm ¥ T ARre wer § ? 4
|) T Wi Wi 3 oiftnd urE A A R 2 2
m 'Wm%mwm%mﬁmﬁmu 6
a)  What are the distinguishing characteristics of Group Insurance ? 4
b) Who is the policyholder in Group Policy ? _ . 2
¢) Briefly explain the eligible group for Group Insurance . 6.
F) SEAIFNE? . 3

|) @Mﬂmﬁhm%"
M WQMmemmﬂmmmm 5

a) What is Gratuity ? 3
b) When gratuity becomes payable to the employee ? 4
¢) Discuss in what way the Group Gratuity Scheme of L. L. C is 5

beneficial to the employer and the employee .

%) eSS, PR ARG Ry 4
{ At 3ucre § 2

@) il & s & aliel $ 7w | 2

) wE et Ao & da, srafty i 3 e § wee d e | 6
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a)

b)

<)

-

by

%)
q)

a)

b) .

e 3 AL -23
What are the ways available to the trustees of the Superannuation 4
Fund to provide pension to the retired employees. "

State the ways of arrar.;gement of benefits ' 2
Briefly discuss term insurance in conjunction with Group 6
Superannuatlon Scheme .

(AT & 6 37F)
mmaasﬁmﬁaﬁmﬁ 1988- 89ﬁm%§mﬁm%"

F Afives TR e dtst 2001 & forwa & qargy |

Mention the poverty alleviation measures taken by the Govt.-from 6 each

1988-89 till today.
State the salient features of Krishi Shramik Samajik Suraksha Yo;ana

2001.

il 3 et el o R | o (% E 6 9)
M HRE TR ? ‘

State basic concepts of Reinsurance. ; 6 each
What are the purposes of Reinsurance ?

10. =1 fafea Asei & R IRar Rl & 9918Y :

10.

%)
Q)

qoE i A
YYE 39S A

Enumcrate the partlculars to be recovered in respect of the following
Schemes

a)
b)

Group Insurance Scheme 4
Group Gratuity Scheme . : 8
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. it T AL-24
MAY, 2007 ‘

SiterT st et et uer

ASSOCIATESHIP EXAMINATION
LEGAL ASPECTS OF LIFE ASSURANCE
T 36 | : [T 3f : 100
Time: 3 Hours] [Total Marks : 1OQ
wmma:mam I mm% 16 m%ﬁﬁﬁaﬁaﬁqﬁ%n
Fgadt R Uy 123 m H

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. fr fafea § 9 R IR Wy d Rufirt Rl - (5P & 4 i)
3)  feadomEn

q) AT

§) iR amar

8)  AFE T HA & @

%) Y WA |

1. Write short notes on any four of the fo]lowmg - 4 each
a) Prospectus
b) Suicide
¢) Garnishee Order
d) Sources of Law in India
€) Presumption of Death .

" (F® & 4 i)
2. &) R iR sifuftam, 1872 & siarla ‘gfafafy stk wnft’ ot ki saren o
T4 2, 38 sl SR |
®) o gy stk At § sfax aawu |
) 3 Ry P <rEl 3 SR W wHEE Y fn e s oy wiferdt & sfarfa |
a6 2l = @, Gla'qm:ﬂmﬁfmmﬁxﬁﬁmaqam%
A sfiraat o qrg ST 78 |

2. a) Define the words 'Agent‘ and Principal’ as defined under Indian 4 each
Contract Act, 1872. v
b) Distinguish between Agent and Servant .
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2 AL -24

¢) Explain on the basis of decided court cases, the liability of an insurer
under Insurance policy, when the agent collects premium from
proposer, but fails to‘deposit the same with insurer .

: ﬁmwm%ﬁwﬁm@aﬂtmz- (S & 4 31F)
%) ‘R R | \ -

@) T gl F R |

) ‘ﬂWWWWWTﬂ’?ﬂﬁW!

q) ‘aai'gﬁﬁﬁ?‘ﬂ’ﬂﬁtml

State and Expiain any three :- - 4 each
a) Principle of ‘Indemnity’. ' ’

b) Principle of 'Utmost Good Faith'.

¢) Ruleof 'Qua Facit per alium Facit per se'.

d) Ruleof ‘Contra Proferentum’.

F) “mmméaﬁam@wwwmméﬁm Y
mﬁmm%n"wmaﬁmm,mﬁmﬁ%wﬁmﬁ :
: e 3R 2R A T @ A e ffE .
@) mmmmmgﬁmwﬂamwmm
Ha g | (R 3 2 3%)
i) m‘m’mﬁaﬁ@mm,mﬁﬁwmm@mw
§ o T '
i) ﬁ‘wmu@%@mﬁaﬁéﬂﬁﬁaﬁzﬁm#ﬁﬂmﬁgﬂ
7 Fmoan @ Pl R TERUA IW 9, HE
iii) aﬁ‘ﬁ’m@mmaﬁﬁwaﬁmg@%mﬁmﬁm
i e Faeret 3 TR 38 weh & T o

a) "Double accident benefit under Life insurance policy is an unique
benefit granted by the insurer”. Elucidate this statement with reference
to it's nature, terms and conditions and also state exclusions, if any .
b) Explain with reasons whether double accident benefit claims under 2 each
following life insurance policies would be adiissible .
i) Captain 'R’ while on long leave died at his native place in road
accident . '
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i) Mr'S' while returning from Air port travelling in hired taxi as a
passenger, in drunken state died in taxi collusion with city Bus
‘at Pune.

iif) Mr T was convicted by court of laws for murder of his friend
and in execution of punishment he was hanged . :

5. "I T FET R S o e o w8, @ d - ders 12
T HY HI TR T I AW el B ST N AT s v 1872%
et Tl % TR O A wf TR § x

5. "Any promise or agreement enforceable at law is contract” - Pollock ' 12

Elucidate this statement while identifying various clements which go to
make valid contract in terms of relevant provisions of Indian Contract
Act, 1872.

6. %) ‘THiET FFAMAAEEE 7 dm AP 1938 M w3 IR 6
F TR 3N gy | ,

@) i iRl & il o ik F afterd B wvse R @ 3

fma w it wafea = & gl @ garen @ 4R 1

) R AR - v 3
Tt Gt ik wed wgdfndt 1
6. a) What is meant by 'Nomination' ? State and explain the provisions 6
made under Section 39 of Insurance Act, 1938.
b) Explain the rights of nominee under life insurance policy with 3
reference to Supreme Court case decided on this issue. .
c) Distinguish between : : 3
Absolute Assignee and Conditional Assignee.
(30F & 6 37%)

7. ) R 9 A e & 7 S o it i a5 34t snavawm @ 2 v fea

HEl T ST BT @ | TUB R IS 20 YHIT | ‘

Q) mwmmmaﬁaﬁmmmaﬁaﬁmmﬁ

W et | 59 Fo ) wrd <fte i P gry A < weR 3 wE
Aisralt 3 forr i awma ok e gY@ Ry |
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a)‘

b)

4 - ' ' AL -24

What is meant by Insurable Interest ? Why it is essential in Life. 6 each

Insurance Contract ? Explain the extent of insurable interest available
quoting four examples .

Labour welfare statutes helped insurers in developing Group Insurance
Schemes . Explain this statement by stating and explaining two types
of Group Insurance Schemes framed by L. I. C. of India.

" “ITEe WEUT SIRFEY 1986 H1 33va e 3 Rl i @a e w9 'd
W HE 3% Rl S e s | 39 9 I 39 SffEg § il R R
mm%mﬁmmaﬁﬁmﬁmwmmaﬁm

-ﬁ-lﬁa‘zl

‘The objectives of ‘Consumer Protection Act, 1986 are to protect the
interests of consumer by providing speedy settlements of consumer
complaints at low cost to the consumers'. Explain this statement with
reference to various provisions made under the 'Act’ including changes
made in recent amendments to the Act.

$)

q)

)

a)‘

b)

mﬁmmwmmm@ﬁ?wmﬂaﬁmaﬁm

1938 ¥ 4K 45 & il w1 T qrEuE & el § eI |

T Heeaqvi e & T & T Al I U Jegard Bt e R
T | ol % st e iR 3 Sl @ ifE den = T
e 1 37T BT v el ) werde @ 78 qasy R o At A
T T Y g i ?

Py, ‘e X e s e St B 20.2.2006 B B 1w A
e Reifdra fapa e Forer wroew ) andv | 1.1.2006 Rt i | ferenat 4

; 28.2.2006 3 S GIFR FOQ 5 s fvia R 1 Frafa iR
TG 10.3.2006 3 T T | T Wiea Fafdla staredt qeeH & SR
W FaRy % S s |938ﬁum45 YR af R @

arfre & frf s 7

How far life insurance policies are indisputable in India ? Explain
this with reference to provisions made under Section 45 of Insurance
Act, 1938.

A death claim was repudiated by insurer for non disclosure of matcrlal
fact. The widow nominee under the policy preferred claim for refund

34
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10.

c)

5 AL -24

of premiums to the insurer. Explain with the help of decided court

cases whether she wiii Le entitled to get refund of premiums. ’

Mr ‘L' submitted life insurance proposal to insurer on 20-2-2006, 3
policy was backdated with date of commencement 11-1-2006. Insurer

took underwriting decision to accept the proposal on 28-2-2006. The

formal policy document was prepared on 10-3-2006. State with

reasons on the basis of decided court cases 2 years period for the
purpose of Section 45 of Insurance Act, 1938 is to be counted from

which date ?

TR ¥ 357 e ok wae e % s o fafae | (7 % 4 31%)
mﬁmmﬁ%mwm%@maﬁWW%?qﬁﬁm
AT 1963 3 ArEur & Hef § s wweET |

WY 7 SRR F I A Wi AT S T AR BT FO T
T € 1 TR R a8 R R et & swafed @) :

State powers of High Courts and Supreme Court in India . - 4each
What is period of limitation fcr suiton policy moneys ? Explain with
reference to relevant provisions made under Limitation Act, 1963..

Briefly describe the various proofs of title the claimant may produce

in case of intestate succession ?
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o TR when AL-25
MAY, 2007
e = g
ASSOCIATESHIP EXAMINATION
LIFE ASSURANCE MANAGEMENT
s 3 He ) (gt 3 : 100
Time: 3 Hours] A {Total Marks : 100
Rt 2178 weAl & ST g | YA WA 16 st & g g Pl T &
stz e Ul we 12 3w T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 markseach.

. . Marks
1. P & e am C r feafor o - (AT $ 4 39)

iv) (Qed)erff e
v) TRT FGAS a1

1. Write short notes on any four of the following :- ' 4 each
i) Instalment Revival Scheme
ii) Group Super Annuation Scheme.
iii) Non Forefeiture Regulation
iv) Duplicate Policy.
v) Consuiner Redressal Forums.

2 F) o 2 e e P o g T At 2 ? - 5
L)) Mmﬁ@mmﬁ%mmaﬁﬂﬁqﬁ@ﬁmﬁaﬂ '
FEINEESL? )

~3

2. a) WhatisPromotion? Does it help for the growth of the organization? 5

b) What are the important factors to be considered while chalking outa
sound Promotion Policy in an organization?

(5 & 6 3()

3. ) "mamﬁwmmmmwmm% "
Wlmﬁﬁﬁﬁﬁmﬁr@ﬁﬁaﬁm|

~)
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@) mm%mmmmﬁmm@wﬁmmm
e iR Siea g a7 v ?

3. a) "Delegation is empowering subordinates to perform giving them the 6each
responsibility” Explain. Mention important elements involved in

delegation.
b) Whatare the pomts to be considered by superior for delegation to be
effective?
4. ®) maﬁaﬁﬁﬁrzﬁaﬁtmmﬁﬁml ' . 4
@) R Y 2 3 a6 sy SRt s s § s 8
2@ 1 fver 50 byl s R e 2
4. a). Mention the Categories of Death Claims and their features. 4
b) What are the requirements usually called for and their importance 8

before settlement of premature death claims? -

5. SimEART:- | (573 & 4 3i%)
%) Aeeshitman :

@) ufweor sitt e Rty

T) TH. T U 3R, T @ (LAN & MAN)

5. Distinguisa between : 4each
a) Moral Hazard and Physical Hazard
b) Training and Appraisal

¢) LAN&MAN «
6. &) ﬁﬁmm%?m%ﬁ@aﬁfﬁﬁﬁqﬁmﬁmmﬂﬁm 7

P AT R R FAE
@) mﬁmaamammﬁmmmamaammm 5
PorfraRe? -
6. a) Whatis morale? Briefly explain the i important factors affecting morale 7
k of employees in an Organization.
i b)  What role a Manager should assume to boost the morale of employees 5

. under his Control?
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10.

10.

Q)
a)

b)

)

b)

*)

)

a)

b)

%)
Q)
a)

b)

3 AL -25
: (AT % 6 31F)
e e A R e T R AR 5 e 5
@W?ﬁ'%’? o
ﬁwm%mmmuﬁmﬁmm%?

“Revival brings in to being a fresh contract” - Elucidate. Whatare the 6 each
general conditions followed for revival of policies? '
What are the essential conditions to be satisfied for special revival?

wnsqwm’ Fe? - (5% & 6 3iF)
amﬂﬁmma@ﬂ%aﬁ@mﬁaﬁmmﬁaﬁ@w
TUEREAEH | ‘

Explain what is "Counselling"? o ~ 6 each

What are the different counselling skills required for a Manager to

become a good counsellor? ' ,
(I & 6 3F)

éa?mmﬁmﬁamamqﬁ%mw@mémm%mﬁﬂ

FmAve?

P it & il 2 Forcee o v @ 2 @l 3 e 3 SIS T
awe? | -

What are the advantages in maintaining Group Ledger sheets for salary 6 each

saving scheme Policies instead of Individual Ledger Sheets?

Under what circumstances claims are repudiated? What is Ex-gratia

Payment in Settlement of Claim? : . ‘
(9% & 6 3(%)

mmmm@am,waﬁwm‘mwm'
wERF@E | '
e T 3 foru R Fgrqut el R forT R AR ?

“The successful Conduct of Office work depends on an efficientand 6 each
economical "Internal Communication System" Explain.

What are the important factors to be considered for effective
communication?




g, 2007 | mm o AL-26

MAY, 2007 , ,
Sfem i foe
ASSOCIATESHIP EXAMINATION
- LIFE ASSURANCE FINANCE
a3 ] ' [Fer st : 100
Time: 3 Hours] \ - Total Marks : 100
ﬁ;ﬁmm%mﬁmlmm%m am%‘ﬁs—'g'azsrhadwg’ftn

g At TRE U 12 3w H E |
- Answer EIGHT questions only. Question ONE carries 16 marks but this is ot
- compulsory. All other questions carry 12 marks each. '

; Marks .
1. 31.03.2007 B ed vieq A d o Rl A pel AR AwRA AR 16
3ren S i 1938ﬁﬁufﬁaﬁmufﬂwmwga=mﬁmmé |

(TR arag &)
1.  faiay 16,570 -
2. afd# , 7,800 -
3. it 3T aareted - - 1,600
4. TERAT 1,600 -
5. ggEEm 1,67,600 -
6. uRygaaraEr 5,62,720 .-
7. 3l B wivA 1,92,670 -
8. et wer aA & fore wfower - 27,950
9. THEAMAF Y 2,16,620
10. 3 a1 sl 4,60,610
1. ¥ &g =g 2,72,620
12. witetamfeeR 1,28,900 -
13. g ad fifte DRI 73,400
14. wradEeny ©2,94,500 -
15. f@wm 206,12,700 ‘ -
6.  Fav IwREvr @@ - 2,29,000
17. AW 1,60,000 -
18. - S, ST o R : - 15,06,200

19, =9 3R Wy 39 T - 2,06,800 -
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S o N £ EE
20, coope L 1,52,700 -
. 21, it W 16,06,200 -
22, il & R wor 117,02,600 :
23. SHEIEE- 9 - 6,600
24, T erEl - SRy : - 2,150
25. = A H - AR - 920
26. FHAHREE ‘ 1,82,600 -
27. THAD - 2,62,620
28.  wiferd smm - 1,88,760
29. YA ' 2,700 -
30, wEHwAtE - 30,22,600
31. g - 5,00,000
32. fafg o 71,600 -
33, sngduyawdo 1,62,900 ‘
34, e - o - 6,210
35. Rk wragedda 9,200 .
36. e dmfafy ‘ - 213,64,200
; - 77192210 27192210
Pre 3 v et STE¥aH ) GRS I8 - o
1) PRuSIERE ¥. 202,72,600
2) T EER A g a ®. 15,200
3) & 1,48,000 ¥ &< % SUR YA A 3 L AT
4) gy e e o 3 fore St # ST ¥. 18,000
5)  naRaE i R w0 & ST A @R Fam ¥.9,270

The following balances appeared in the books of M/s. Santanu Life Insurance
Co. Ltd. as at 31.3.2007. You have to prepare Revenue Account and the
Balance Sheet in the proforma prescribed under the Insurance Act, 1938.

‘ (Rs. in Lakhs)
Sr. No. Head of Account (De?&! (Creﬂg
I.  Agentsbalance ‘ 16,570 -
2. Annuties , 7,800 -

3. Annuties due and unpaid - 1,600
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Sr. No. Head of Account ; (Delizig) (Cre?{ig)
4 Bonus in cash - 1,600 -
3. - Claim by Death 1,67,600 -
6. Claim by Maturity 5,62,720 -
7 Commission to Agents ‘ " 1,92,670 -
8 Consideration for Annuties Granted - 27,950
9 Cash and Bank Balances 2,16;620 -
10.  Salaries and allowances 4,60,610 o
1. Other expenses of Management 2,72,620
12. Furniture and Fixture 1,28,900 -
13.  First year premium ' o o- 73,400
14.  House property in India - 2,94,500 -
15. Investment 206,12,700 -
16.  Investment Reserve Account - 2,29,000
17.  Income tax deducted at source 1,60,000 -
18. Interest, dividend and rent .- -15,06,200
19. ° Interest accrued but not due 2,06,800 -
20. Interest outstanding 1,52,700 -
21.  Loans on policies , 16,06,200 -
22. Loan against Properties 17,02,600 -

© 23, Outstanding Claim - Death - 6,600
24.  Outstanding Claim - Maturity - 2,150
25.  Outstanding Claim - Written back S 9200
26. Outstanding Premium 1,82,600 - -
27.  Outstanding Expenses - 2,62,620
28.  Policy Deposit ' - 1,88,760
29.  Prepaid Expenses ~ 2,700 -
30. Renewal Premium - 30,22,600
31.  Share Capital : - *'5,00,000
32 Sundry Debtors 71,600 ] -
33.  Surrenders 1,62,900 )

34.  Surrender unclaimed - 6,210

35. - Sundry Deposit Recoverable 9,200 -

36. Life Fund - 213,64,200
Total : - 271,922,210 271,92,210

Adjustment where ever necessary for the following are to be made :-

1) ~Market value of investments ‘Rs. 202,72,600
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2)
3)

4y
5)

4 ‘ AL -26

Depreciation in House Property Rs. 15,200
Provision for accruing Gratuity Liability be made

1o the extent of ] Rs. 1,48,000
Transfer to Reserve for loans bad and doubtful debts Rs. 18,000
Contingent Liabilities not acknowledged as debts . Rs.9,270

31 ma‘zomahﬁaﬁwmn’gw%mﬁmaMl 7 2007 P A I &
ﬁmwm,mwaﬁ@mwaﬂﬁﬁraﬁmﬁmaﬁl

- 31-3-07 T dAUE -

N O

kG IR W U]
. B,
Vel , - 220,000
AT ’ 60’000 -
fafy SFER _ - 62,000
T I - 6,150
CERL] -10,990 -
argite qun G FT i WS - 5,200
wa it - 4,100
fasht ' - 17,25,000
9. forehh ot 1,100 -
10. P& EE ‘ 1,87,000 -
11. e qaraeEd N 1,50,000 -
12. WARK : 15,000 -
13, wad . ‘ 1,40,000 -
14, w 3,02,000 -
15, RfEIERR 92,000 -
16. "Gl 27,500 -
17.  Siafts $Ro 3,200 -
18. «R0-HRw 4,100 -
19. aa . 25,000 -
20. S a9l 4 TR 1,060 -
21, SRR 1,200 -
22  dm 2,000 -
23. g 300 -
10,22,450 _10,22,450

fr gura AT & ;- :

i) . 10% s o o8 o ol T (SR R B AR

42
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5

i) T/ (31) daE 1,200 (%) w5l ®. 700
iii) (37 TR 10% (3) wimmw 10% 1 (8) ¥R 2.5% HITI .
iv) [radmeads, 500

v) éaanmo%aﬁatémwmmamwm.

vi) 31.3.2007 9} sifm wis &, 52,200 . .

Following is the Trial Balance of Ms. Ghanshyam and Sons as on 31st 12
March 2007. You are hereby requested to prepare Trading, Profit and Loss
Account for the year ended 3]st March 2007 and Balance Sheet as on that date ; -

- TRIAL BALANCE - Ason 31-03-97 -

AL -26

PN AL~

ﬁ'é‘ Head of Account . (De?g) (Creﬂg
Capital : - 2,20,000
Drawing ‘ 60,000 -
_Sundry Creditors -~ 62,000
Discount Received - 6,150
Bank Balance 10,990 -
Provision for Bad and doubtfuy] debts = 5,200
Purchase Returns , - 4,100
Sales . - 7,25,000

9. Sales Returns : 1,100 , -

10. " Opening Stock v ' 1,87,000 oo

1. Plantand Machinery 1,50,000 -

12, Fumiture - 15,000 -

- 13. Building 1,40,000 -

14.  Purchase ' 302000 .

I5. Sundry Debtors 7 ~' 92,000 -

16.  Wages 27,500 , -

I17. Carriage Inward ' : 3,200 -

18. ~ Carriage Outward : 4,100 -

19.  Salaries ) ' 25,000 -

20. Int. and Bank charges 1,060 -

21.  Discount . 1,200 -

232 Insurancg 2,000 -

23. ' Cashinhand 300

10,22,450 10,22,450

The following adjustments are to be made :- ‘
i) Intereston Capital @ 10% P-a. (no intérest on Drawing)
i) Outstanding expenses :

(a) - Salaries Rs. 1,200 (b) Wages Rs. 700
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iii) Depreciationon: :
a) Machinery 10%  b) Furniture 10% and c¢) Building2.5%
iv) Prepaid insurance expenses Rs. 500
v) Provision for Bad and doubtful debt @ 10% on Debtors
vi) Closing Stock as on 31.5.2007 Rs. 52,200

3. 3) S5 gauE Raw a7 dR i R ward ?
) 3lm#2m6ﬁaﬂ§ma%ﬁmgﬁaﬁﬁa.3,200$r%ﬁ2ﬁw%|ﬁq 8
Wﬁmﬁ@mwﬁﬁaﬁmwmmaﬁ |
D) o a o R R e w10 shie T fonan - . ®.2,470
i) P R 346 3 sy & R e A e - €..2,050
jif) e e A S sy e @ R dvg e o R @ vl - ¥ 60
iv) $op v 1) T o <t wre g SR @ 9
o e e 8 R 781 o - ‘ ¥. 520
V) U TR 5 R e § g v e - ®.720

3. a) WhatisBank Reconciliation Statement? Why isit prepared ?
b) On 31st March 2006 the Cash book of Shri Gupta showed a debit 8
balance of Rs. 3,200. Prepare a bank reconciliation statement as at
that date taking into account the following information :

i) Chequé deposited but not credited by Bank Rs. 2,470
ii) Cheque issued but not yet presented by payee.
for payment in the bank Rs. 2,050 °
iii) Bank charges appearing in pass book but not '
recorded in Cash Book ’ Rs. 60
iv) Collection made directly by Bank-and appearing
in Pass Book but not yet recorded in Cash Book Rs. 520
v) Cash directly deposited by a customer ‘ Rs. 720
4 frey e ) o wfafteal o vl gaa saven Wt : ‘ 12 -

i) . 31.03.2007 RE. 2, 12,000 1 rebraT AEi-aor A

i) ® lo,oooalémﬂmmmma?nﬁmﬁqﬁm%ﬁMW% |
iii) ets o 1. &, 6,200 & IUR T FATE H 57 1

v) ¥ e % R 6 w0 E, 400 H SR 0

v) &, 300 3 viferd S H T |

vi) T dr Rt H 9% 4 §. 6,200 F LA |
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Pass Journal Entries for the following transactions with narrations : 12
i)  Outstanding Renewal Premium Rs. 2,12,000 as at 31.3.2007
ii) - Purchase of Rs. 10,000 stationery which has been wrongly included
in Postage A/c
1ii) Purchase of furniture on credit from Godrej Boyace for Rs. 6,200
iv) Bank has debited clients account for Rs. 400 towards Bank charges
V) Purchase of policy stamps for Rs. 300 in cash ; )
vi) Payment to Godrej Boyce Ltd. by cheque for Rs. 6,200.

W) st dart T SR P s d? . Few 6o
3) EDPammmﬁa@mwamﬂzEDPamﬁmﬁé@mﬂmﬁmw
|

a) What is difference between Internal Audit and Internal Control ? 6each
b)- Distinguish between auditing in an EDP environment and auditing in
non-EDP environment. '

) qma‘mwﬁnmmaﬁaznaﬁmﬁ? o o 4 8

) mﬁwnﬁﬁfﬁzﬁwmﬁzh@ [ ~ 4

a) Whatarethe reqmremems of a Sound Budgetary System ? 8

b) Write a note on Budgeting Activity . 4
Fmt o g ool feafa Tl% & 3 3%
i) e fEf '

i) g 3nfdfe derEe |

iil) TR I g )

iv) TEREI AEie |

Write short notes on : ; ) 3each

i) Income Tax Return

i) Socio-Economic Profile
itii) Group Gratuity Scheme
iv) Inflation Accountmg

o) ﬁwmmmmé?mmﬁmmmmﬁmﬁHé? 8
q) ﬁﬁwmaﬁﬁﬁmwwﬁmﬁﬁv@u 4
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10.

a)

b)

)

)

b)
3)
)

a)
b)

8 AL -26

What are the objectives of Accounting Standard ? Who is the authority 8
to issue Accounting Standard ? ,

Write a note on the usefulness of Financial Ratios . 4
T I S & 7 FOHH 5 R @ 7 T & 6 3®

uTT80 C ¥ sita i ST 2 ORI 80 C & sinfa i H T
el 8: (6) wEfral 1 ITRWIR |

Why tax is levied and what are the canons of taxation ? . 6 each

What is the maximum limit that is allowed under Section 80 C . Give
example of six deductions which are allowed u/s 80 C?

PR HET A T deblieh oh FfT SHR AT ? AT F 6 30F
fordy SRTER 7 € 7 5 T 3 SR 1 B ST H A ¢ ?

What are the different types of Computer Assisted Audit techniques ? 6 each
What is financial powers ? Who can exercise such kind of powers ?
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- MAY, 2007 - . : . , '
forfmee vai @t orfir enwemd
ASSOCIATESHIP EXAMINATION
FIRE HAZARDS OF SPECIFIC INDUSTRIES

w 3Ee] _ [T 3 : 100
Time: 3 Hours] ‘ | ~ [Total Marks : 100
T s wortt & S iR ) wormy w3 16 e # oy g P T

’ iR 2w

* Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

_ 'Mafks
¥) U 50 W 3 & 719 s, R e sRfrftr 38 % simh o 4
2 | '
%) fefoRen W afre fowftnd fofge ;. AT 4 3F)
i) - ARt
i) ST
iii) ﬁazﬂww%gsﬁmmmm:m

1. -a) Name some of the major Industries, which fall under Engineering 4
Industry .
b) Write short-notes on ;
' i) Ol quenching
i) Spray painting
iii) Hydraulic Fluid used for Power Transmissmn

4 each

2 W) WMEWHTE SR e ) (37 3 6 37) -
7) mmﬁﬁmm%mmwmi ~

2. a) What are the Fire hazards assocnated with Rubber and Rubber 6 each
: products .
b) Discuss the Hazard of Static Elccmc:ty in Rubber Industry
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mmm%m@ammwwm (5% 6 37)

AG-51

TR T R R |
T 339 s Fw wd |

Explain Fire hazard in the following areas of Hydrocarbon Processing 6 each

Industry.

a)
b)

Flare and Flare Stack .
Bulk Tankage and Tank Farm .

mmﬁmmﬁmﬁmm%mmg@ RRY)
VBRI Q T vew € 7 dRe X W | |

What are the major processes in Tcxtlle Industnes to convert Cotton/Staple T n
Fibre into cloth ? Explain in brief .

) T ER F v A 52 F i W Tk | (xra}:s%em)
) 2 T o R T & R R e e 3w e e Ay

! AT S AR 7 ‘
a) State the properties of Jute from Fire hazard point of view . 6 each
b) What procedure is to be adopted in respect of Electrical Installation

and Equipment to prevent Fire in Jute industry ?

(7% F 6 37

3) mm%mmﬂmmmmm%@

T T 3yl ) e AR | '
3) mmmmmammﬁmamwaﬁ ?
a) .Name the Fire hazards and Loss minimisation measures recommended 6 each

in Drying/Firing Section of Tea Factories .
b) - What are the Fire Hazards in warehouse/storage in cotton gmmng

and pressing factories ?
‘mmagmmmmaﬂm (m%wm
¥) . F et g e rer &)
q) FEFHFIR
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10.»

AG-51

Describe the Fire/Loss prevention measures for the following sections: 6 each
a) Raw material preparation of paper mill . .
b) Paper r_nanufacturin g Machine .

et TR Ry (Re%6

¥) e e A el W |
7) SRR e AR e o e &w |

Point out the Fire hazards involved in : 6 each
a) Humidification Plant in Textile mill .
b)" Miscellaneous Hazards in cottan ginning and pressmg factories .

(R ¥ 6 3i%)
frefefan FrEr § m%ﬁﬂm%g@mﬁmmﬂwﬁmm

¥) FerafE
q) T HRE |

Write short notes on hazard associated with construction of the Building 6 each
in the following factories .

a) Textile mills.

b) Tea factories .

e 4 = S (@) - | (R4 5F)

¥) frR

a) TS IR 3 s o |
§) iferlaRm |
q) S |

Define the following (any three) :- 4 each
a) Explosion. ' :

~“b)" Blow down in hydrocarbon processing .

¢) Polymerising .

d) Flash point .




w, 2007 | @mm | AG-52

MAY, 2007 .
=T AR rurd
-ASSOCIATESHIP EXAMINATION
GENERAL FIRE HAZARDS
LLCERRoCy | | [ 30 : 100
- Time: 3 Hours] ~ [Total Marks : 100

wmm%mmlmmé: 16 3 § feeg o arforard i €
¥ welt e W 12 st €

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory. All other questions carry 12 marks each.

| Rl iR R e (R 2‘%’4‘5
¥) T = diaed
q) g
H) e
- R) wEAgm
7) s fdeed

1. Write short notes on any four :
a)  Smoke tube Boilers
b) Segregation
¢) Implosion
d) Supervision
e) Smole detectors .

2. T el TR S i e T % e qaE aﬁa@aﬁsg&aﬁm 12
ﬁaq%gvmmaﬁﬁqu ,

4 each

- 2. Name three inorganic chemicals and three organic chemicals . Explain 12
their properties from fire hazard point of view .

3. 30) e ST o ) e e o ¢ O 6 979)
) ot A0l 2 atft 3 Forw 3 P < 3 e SeovE R
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a) State the different classes of fire depending upon the combustible 6 each
material. :

b) Mention the types of extinguisher suitable for different classes of
Fire. :

Pt R ) R 1 T A | B Rl R 3 & A 3 1
g E | |

Name different types of furnaces. What are the fire prevention measures 12
recommended for such furnaces ? ' '

%) T o S A T 3 e AR | (e & 6 37%)
) mmm&mﬁmm«mm !

a) Give examples of originating or inception fire hazards . | 6 each
b) Identify fire hazards in ducts in centrally air-conditioned buildings .
Rl 2 e i Rl e e R A IR n
"State the circumstances under which Spontaneous Combustion may occur. 12

mﬁmaﬁmﬂﬁﬁWWﬁmmaﬂﬁmgm%m 12
APTAEREWNE?

Name the common electrical equipments used in industries . What are the 12
fire hazard associated with these equipments ?

: ; ' (7T & 6 37F)
) kg AT e SR Wi U i e I Y e i
3) “meRnRE dd ot e g ?

a) Discuss the process "Gas welding and cutting” and the loss prevention 6 each
measures. '
b) What are the Fire hazard in "Grinding Mills" ?

) \ﬁgam%ﬁmqmwwﬁ? C (AE 6 3F)
) e A S @ o T
o 28




b) - Mention the function of Gas Turbine .

10, PR T s Rt R
¥) HiaRs A5 |
9 aﬁawaﬁamﬁ%maﬁmn

10. Write short notes on :
a) Internal Combustion Engine . |
b) Nature of combustion of Fire and Products of Fire .

29

9.' a) What are the varioﬁs modes of Power Transmission 7

AG -52

-6 each

(3% % 6 37)

| 6 each
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MAY, 2007 | A _

| 3fi sftar 3

ASSOCIATESHIP EXAMINATION

FIRE INSURANCE UNDERWRITING ;
wEi3ue) | , [ i 2 100
Time: 3 Hours] [Total Marks : 100
MWM%WW | g 16 sten § foreg g P T 2
' Faft uRHE AT 12 SwH |

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
L aﬁﬁmﬁsﬁmﬁwmﬁaﬁwmmmﬂm{aaﬁ% v 16

- < BT |

1. "The fixing of proper retentions is the essence of sound underwriting in 16
Fire Insurance.” Discuss .

2w PefeRe v S w e R - s
i) INRIH ‘

i) 8 g
iil) T8 e ? 4 '

q) fmia®- . 6
I i L '
i) and-do gl

: i) Waﬁﬁ

%mmmmﬁmmmm:ﬂm%?

2. a) Whatis the meaning of the following terms : 6
i) = Market Value
ii) © Book Value :
iii) Reinstatement Value ? i

b) How is the sum insured fixed for manufacturer's - ' 6

i) row materials
i)  semi-finished goods
iii) finished goods ?




| | ,_ AG -54
; ﬁmmmmwa@ﬁm%mmwm« 12

Identify the differences between Industrial Risks pohcy and Mega Risk 12 |
Policy-.- ;

I 31 e R T iR & st | (3 % 6 3i%)
¥) &, g qu ey gy | L
q) G T TEH ST TR

%daﬁ#mﬁ@awﬁwmaﬁm

Describe the cover and exclusions under standard fire and special perils 6 each
policy in respect of :

a) Riot, Strike and Malicious damage

b) Flood and Storm group of perils.

e i 2o someht & Reerl B me Y
Explain the principles of fire insurance rating system . 12
@) T m&ﬁmmmﬂmm}maﬂm g

q) TRl & :
i) dmm ’ 4
i) el & R R 7 | 4
a)’ Outline the structure of combmed pohcncs available in the U. K , ‘4
Market . e \\

b) What are the benefits of these policies to
i) the insured
ii) the insurers ?

: mmmﬁm%wmam%@-mw%m. 12
ST AT HRe 3 et A 1

Describe the cover under two types of add-on cover on deterioration of 12
stocks in cold storage premises. ‘
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8. foe ot e s el R - (RmH4 59
) N)Wm m" ) .

9) gEafe

W) 3 &

%) O I U

8. Write short notes orr any three : o 4 each

a) Valued policies -

b) Silent risk

¢) Partial insurances

d) Agreed Bank Clause.

(T & 6 3(%)
9. &) mmmmmm%mmmﬁmmaﬁﬁ
fra e ?
3) m%mﬁmmmmeMWWa@:
Y gEai?

9. a) How is under-insurance penalised under the standard fire and special 6 €ach

‘ penls policy ?
'b) How can the insured avoid lhlS penalty by paymg extra premium at
inception of the policy ? /
10, e ol g Poeeel AT E | 12
10. State the salient features of a floater Policy . n
..... TAT -r=en
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, 2007
. aRtumedt gif (aif) sfar .
ASSOCIATESHIP EXAMINATION
, CONSEQUENTIAL LOSS (FIRE) INSURANCE

w3 | o 100

Time: 3 Hours) ’ : [Total Marks : 100

| ﬁﬂ?mmaﬁmﬂﬁmmmﬁmmﬁﬁﬁﬂwﬁaﬁ?ﬂ%n
It yRE T 12w E §

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 markseach.

1 e e e e o R (o) A e e
'd’rﬁamsnmél

1. State the various addmonal items which can be covered under a 16
Consequential Loss (Fire) Insurance Pohcy

2 Mm(aﬁ)zﬁ%mﬁmmaﬁwmﬁﬁ? ‘ 12

~ 2. What is the'Role of Claims adjuster in relation to Consequential Loss 12
(Fire) Claims.

3. PeffewREReRE R (% 43)

3 el
q) ARy
§) affsclam
3. Write short notes on :- ' ' 4 each

a) Gross Profit
b) Insured Standing charges
c) Annual Turiover.

AR L TE e R e N

- 4. Explain the need for Consequential Loss (Fire) Insurance Cover. ' 1'2
33
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5. i R e sl SR e fvetoT e ) 28 TR A T AT |

F) dmufrE. 12,00,000-

q) e o + S el TR = €.15,00,000
T) W IR - 5,000 A :

W) ey svt & R 3R - 2,500 T

- 9) IRRe=r®.1,00,000

) i v R # = €. 10,000

) affes 3 - 5,000 T |

Workout claim amount payable on "output" basns specxﬁcatlon given the
following data:-
a) SumInsured Rs. 12,00,000
b) Net Profit + Insured Standing Changes = Rs. 15,00,000
¢) Standard Output 5,000 Units.
d) Output during Indemnity Period 2,500 Units.
‘) Additional Expenditure - Rs. 1,00,000
f) Savingsin Insured S.C.Rs. 10,000
g) Annual Output 5,000 Units.

<o () T s A e e R

What is the objective of return of Premium clause undcr Consequenual
Loss (Fire) Policy ? SRR

Wﬂmﬁ(mﬁ)mﬁmﬁWamwﬁﬁ ?

What are underwrmng considerations in- Consequentlal Loss (Fire)
Insurance.

T SR Pl vies A 1 eI AR |
Draft the wordings of “Revenue Basis" Specification.

Maﬁ(mﬁ)m%mzﬁaﬁwmﬁmmmaﬁmwm
mmﬁaﬂ%m ‘
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9. Whatare the steps the Insurance Company is required to take when a notice 12
of a claim is received under a Consequential Loss (Fire) Policy?

10. SR e, mmmmammammm 12

%maﬁm#ﬁml

10. Explain reasons for incorporating atfjustment clauses for Trendpf Business, 12
~ Variations and special circumstances. '




ASSOCIATESHIP EXAMINATION

FIRE INSURANCE CLAIMS
w362 ) [ 100
Time: 3 Hours] . ' [Total Marks : 100
fp 2118 WAL 3 IR | YW T F 16 st R g AP T R 1 9
R TRFE TR 12w HE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

- ‘ ' Marks
1 s sifm RO o Ry g et i | ‘ 16
1. State the contents of thé final Survey Report on Fire Insurance Claims. 16
2, s 3 it s e A R ] 12
2. What are the-procedures for Disposal of sqlvgge under fire claims? 12

3. mmmmmm%m, T Y] o e AT | 12

3. Mention the General Exclusions under the standard and special Perils Fire: 12
-~ Policy. '

a, 'mwﬁ&ﬁmﬁmﬁﬁwﬁﬂﬁw»l o
4. Describe the special conditions attached to 2 Fire Declaration Policy. 12
5 mmm@mmmmﬁ%m@m&aw%?- 12
5. Which are the essential ingredients of Fire Insurance Contract in order to 12

make it enforceable at Law ?

6 e i R 3 s e o R s & A A G € 7 o
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What are the duties of the Insured in the event of a loss under the Fire 12

- Insurance Policy.

. iR w sl R fifae -
) SEAHR

3) fensfgammEsa’

W) R aw ey

Write short notes on :

a)  Proximate cause.

b) 'Without Prejudice’.
¢) Waiver and Estoppel .

mmamm%mmmﬁmm

) viferd ‘o’ i afy . 1,00,000
RGeS A §.1,50,000
wierdt @’ s ®.2,00,000
TR TTE STl '
TR TR E. 4,50,0008 | . :

q) ferst T S afn ¥. 1,00,000

- iferdt ‘I’ - dma o %.2,00,000
wifersdt ‘III’ ’ dmafy . 3,00,000

T 9 &, § G - - wpiaRgd

- (% 4 3)

4 each

(mm 37%)

Apportion the loss amount under the various Policies under the following 6 each

examples :- ;
a) Policy'A' Suminsured . Rs. 1,00,000
Policy B' Suminsured  Rs. 1,50,000

Policy 'C' ‘ SumInsured  Rs. 2,00,000
- Value of the property is Rs. 9 Lakhs :
Loss Amount is Rs. 4,50,000

“b) Policyl - Suminsured Rs. 1,00,000
‘Policy II Suminsured  Rs. 2,00,000
Policy IlI -~ Suminsured Rs. 3,00,000

Value of the property is Rs. 8 Lakhs - It was a Total Loss.
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10.

10.

ey e o ) e e el e R |

Describe the Procedure involved on receipt of claim intimation under a

fire policy?

mm%mﬂm‘@m e 7 3 B R A

R s e W R o S |

Mention the various ‘add-ons' which can be taken by the Insured on payment
of extra premium under a fire policy. '

S . -, J—
weneee END eoemes

38
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R Sy S P S

ASSOCIATESHIP EXAMINATION
FIRE & CONSEQUENTIAL LOSS INSURANCE

g 36 ] - [Fe w100
Tlmg 3 Hours] : [Total Marks : 100
ﬁa’#mvﬁ%{maﬁﬁq | YIT YT % 16 3 § fog ag arfyard wff &

‘ It YRS I 12 stmH

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
- compulsory. Al other questions carry 12 marks each.

- Marks |

I wRraRuvi fofge: : (7% % 8 37%)
¥) T oRert ' ~ -
9) T T

. Write shortnoteson: - : : ‘ 8 each
a)  Package policy
©b) Agreed Bank Clause

2. ST T R 9 S | | n
2. Explain the Doctrine of Proximate Cause. - 2

3. et & e & a1 ety a1 sriwem S Remr e« (3 )
) v :
iy weid

i) ®T%
i) TR e Rarad

3. How is Fire loss assessed in respect of :- ' ' Jeach
i) - Building
i1) Machinery
*iii) Stocks
iv) Furniture & fixtures.
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| R T S s e Rt 12

Once the”poliéy is issued, what are the subsequent changes that can be 12
made under policy? S o ;

s Rl e s e AR - 12

Enumerate the Originating hazards under Fire Policy. B 12

. TR RS AN | 12
Whatis the importance of Good House Keeping? , ‘ 12

| (5 % 6 9%)

i) rael sea @ s o ik e
i) Romf iR S e e R en  faareg ) PR e |
i) Mention the losses ndt payable under consequential loss policy. Geach
ii) State the content of new Business Clause under Consequential Loss

Policy.

[P 0

In what ways an insured is prevented from maxing profitoutof claim? = 12
. Pt e e e | (% 4 9)

&) Ao, T e o P |

q) @ Jovde | '

T) mﬁw(l%ésmﬁ)ﬁh;

Write short noteson : - 4each
a) Omission toinsure, additions, alteration and extension clause.

b) Spoataneous combustion. - -

¢) - Debris Removal (in excess of 1%) clause.
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;'10

10,

i) Excluded Property.

mmm%mmaﬂm;

i) avaRiaafar
i) vaRiaaRy

Under Industnal All Risk Pohcy Mention :-
i)  Excluded Losses. :

—, "

4

AG 5T

- (T 63%)

6 each.
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MAY, 2007
- FHt g A |
ASSOCIATESHIP EXAMINATION
" CARGO LOSS PREVENTION
a3 ] ' et 37 : 100
Time: 3 Hours] , [Total Marks : 100
fipdi a1re w6 I Y mm%maiﬁ%ﬁﬁawm:ﬁ%l

T Ed TR T 12 dE S
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

| ~ Mark

oo e e P ) e e e e “16
aﬁﬁm-ﬁ%mmﬁﬁwma%wmmﬁﬁ '
Pt e e e i €7

" 1. Exporters usually assume thatitis not worth taking the trouble to prevent/ 16
minimise losses, because the insurer is obliged to pay. Explain with reasons
why such exporters are wreng in their assumption?

). foaferfian & FROTSAIC : : (A 2 3)

%) Mm%mmmmmmmﬁﬂzm%%wwaﬁaﬂ
%mﬁaaﬁ@m%?@mﬁ,mammmmm

. mm,mg@mmwmamam

) m%wmammmmmén

7) _m:@mm%mmmaﬁmmaﬁm%l

g) mmﬁw&m%m@%wﬁﬁwmwmau

) s & T A |

) @a@-ﬁﬁﬁh‘wﬁzﬁaﬁmm%ﬁsmmmmm«
W@ | , j ,

2. Give reasons for the following : - : 2each
a) The safe working load for a crane depends on the distance of the load
from the crane base. In other words, the greater the working radius of
a crane, the less is the safe working load.
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b) It is important that the distribution of cargo within the container is
balanced: -

c) Bale packing is not recommended for highly valued commodmes

d) Itisessential that all legs of a sling are equally loaded while hoxstmg
a load. , :

e) Ventilation of storage areas is essennal : '

f)  In a multi-storey transit shed it is advisable to store import cargo in

- upper floors.

| - mmm-maaﬁmmmam%mwmm 12
TN TR ?

What measured should be adopted to prevent possible loss from over- 12
carriage or short-landing?

T & R e 3 e o B R T R AR 12
- What guidelines should be followed for preparing cargo for air transit? 12

I S % W 2 3 g Q 8 ol Y @ o) 3 A o w12
ags’rma‘»’rm?ﬁ%?

. What preca.unons are recommended to avoid damage due to collapse of 12
stacks during unloading?

F) RAMETIWIFFawE? (WS 639)
Q) A A TR N F Sl e §? -

a)  What are the benefits of door-to-door container services? 6each
b) - What are the advantages of air cargo containerization? o

YT R 3 T e e ) el ey LR mrﬂ%ﬁﬁm#mw 12
27

What is the consignee's rolc in minimisation of losscs on goods despatched 12
by railway?

43




AG -61
maﬁﬂ!ﬁﬂkmﬁﬂm@%m%mmmﬁwmm 1

- Ui E |

10.

Describe safe working practice in the use of slings during loading and 12
discharge of cargo. ' '

a@mwﬂmmﬁmwmmvmmmmm o

What processes are involved in shrink wrapping and stretch wrapping? 12
State their respective advantages and drawbacks. :

e v s o | (R F 63%)
%) ‘75 WRaE FEEE A |

@) v o e e e

10.

Write short notes on the following : o - 6each
a) Road transport operator's liability.
b) Liability for maritime fraud under cargo insurance.
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MAY, 2007
, ASSOCIATESHIP EXAMINATION
A 7 COMMERCIAL GEOGRAPHY '
g 3] o ~ [ 31 : 100
Time: 3 Hours] - [Total Marks : 100
et 318 Wl & et ARG 1 o we & 16 st § ey g arfrard w41
FRRht TS T 29 HE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1 vl e arl R 26 vl & ok % Rea o v wp e 8173 16
f mﬂm%‘a}ﬁmwm@mmwéﬁ?

1. “The North Atantic Route is the great trunk route and it is the busiest sea 16
route of the world.” Which factors combine to make this route so busy ?

R am— S 2 55%)
%) gﬂhéﬁéaﬁwaﬁmwﬂmm@@wmwm
g1

) mmﬁzmaﬁwﬁmmﬁmmm%
R B 1 T HT T HETR 1 St st € ¢ |

) Wi g A S A A g | |

W) SR § T G e s T s & waf g v g
dard

) R deEn ) s e 6000 v, . 2, R ot 78T g aiftes s
e

9) mammmmmmmaﬁma.

'2.  Give geographical reasons for the following : ' , 2 each
‘ a) Cold currents from the Polar regions carry one great hazard during
the summer.
b) The great width of the Pacific Ocean is the main reason we see El
Nino events in that ocean as compared to Atlantic and Indian Oceans
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Demand for carriage of goods is a derived demand.
Greatest salinity concentration is found near the tropics, whilst it is
less at the equator.

Indian coastline is nearly 6,000 km. long, yet it does not have many

ports.
Maximum damage from an earthquake is caused not always at the
epicentre.

amamﬁmmm@maﬁmmmg? - ' 12

What are the factors on which the demand for shipping services dcpends" 12

(AT F 6 3F)
%) fafma @ & ardien & 91 9t Refy § i @ - m%mwm

TTmg?
=) for ok A1 70 v 74 Preft 9, seS Tm A sm A €7

a) What remedy is available to the holder of a Bill of Exchange when 6 each
the Bill of Exchange is dishonoured ?

b) What are the remedies for the Seller who has not been paid thevwhole
price 7

- frafefen deel # v swafafa, el a8l svees gl qw i
B 3-SR ATt S IR &5 R - (TS 4 37%)
#) Figen L .
@) A
T fRymE

State the geographical locations, conditions facilities and major cargo 4 each
handled at the following ports
a) Kandla
Mombasa
" Pipavav

S T A P AR (R F 63%)
YR § TR T e ﬂ%ﬂﬂﬁr@ﬁmmaﬁaﬁmﬁr@r
ST ?




10.

10.

, AG -62
a) What are the attributes of a good port? 6 each

b) What Considerations are taken into account in categonsmg ports as
“major ports” in India ? :

mmmmmmm%wmmﬁ (I35 4 307)
F) WY

q) HENPRIY g

) AR g

Explain with examples how the fol]owmg affect maritime movements :- 4 each
a) Seafogs

b) Ocean currents

¢) Trade winds

mwmﬁﬁmﬂr% C (AEE 6 3w)
F) s Ree |

q) g Rae ?

What are the salient charteristics of : ’ 6 each

a) sea transport
b) air transport?

W(ﬂmﬁ)mw%wm@mmmm% 12
@ N a7 .

What is multimodal transport and what are the salient provisions of the =~ 12
Multimodal Transportation of Goods Act? o ’

iR W i ol forg - v (RT % 4 3iF)
F) U R Y ‘

§) I TS

M) T (FIROT) W

Write short notes on the following : , 4 each
a) International Date Line

© b) Conference system °

¢) Demise Charter
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MAY, 2007 o
i T
ASSOCIATESHIP EXAMINATION
_ o MARINE CLAUSES .
g 36 | [t 37 : 100
Time: 3 Hours] [Total Marks : 100

fonedt oTs wvt & T IR | e W % 16 31 € R g orferd R
s woft v v 12 3@ & E
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Mark
1 FRt o 3 i ¥ wed f dReege R TN - 7 1-1-87 & siia "6

FraRa IRl g ryeekH 3 =l AR )

. . State the risks covered and the exclusions under Institute Container Clauses 16
‘ - Time 1.1.87 in respect of containers and in respect of the machinery of
. containers.

. ammm%mmmmm w0nIE 1
76 Pl e TR 1 ARV T W ) 1 AR ? |

2. Whatare the circumstances under which cover can terminate autmnaticélly .2
under a hull policy issued subject to Institute Time Clauses - Hulls,

1.10.83?
(ﬁm%sm}
3. mm%ﬁ@mﬁwmmmwwiam
TS (FTON) F B A TEEH A AR E -
F) FFRO S AR §
@) IR 9 T o B og o Ty dee ST T W R fe
g ? '

3. Which provisions of Institute War Clauses (Cargo) apply when the carrying 6 each
vessel discharges cargo at an intermediate port or place -
a) in the event of transhipment
b) if the voyage is terminated at a port or place other than the agreed
destination?
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(R T 6 30F)
{{&Qzﬁw%mwﬁmﬁﬁwaﬁ%hﬁﬁmﬁmﬁ%o) w0 T
(ii) ﬁﬁwqw%"

What are the (i) functions and (i) salient features of the Package Pollcy 6 each
for exporters covered under the Duty Exemption Scheme?

. {ReTgE T e B 1- 10-83 & sietq ¢ el & Fogd 4 ‘@A 12
- gEm A ded wi Sy A |

What are the provisions of “Notice of Claim and Tenders” clause of \ 12
Institute Time Clauses Hulls - 1.10.83 regarding treatment of hull claims?

mggmﬁﬂm(ﬁﬁvm)ml-s 6| SRR sidFgR 12

R W 1

Explam the purpose and content of the Institute Dual Valuatlon Clase- 12

1.5.61.
(m%sam)

m%mmaﬁm@m%maﬁmw%

%) $Reege woN TN 3 dea o wierd |

@) Reege Tn AN 1-10-83 3 0 Ve wihore |

How is assignment of interest in the subject-matter of insurance dealt 6 each
- with under :
-a) Marine cargo policy subject to Instxtute Cargo Clauses

b) Hull policy subject to Instltute 'I"xme Clauses Hulis - 1.10.83

ﬂmmaﬁm%m%mﬁfﬁaﬁm@ﬁ%mmm 12
TSNS ET 1 e ST e e € 7

What indemnity is afforded by the Institute Cargo Clauses in respect of 12
expenses which the assured may incur in connection with the transit of
his goods?
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What are the main provisions of Tea Crop Insurartce?

. s P ) Y e e T e ok - e 35 et - &
F A H |

. Describe the scope of the cover available for insurance of diamonds and
precious stones exported from India.




.q?: 2007 AG'65
MAY, 207 e when
ASSOCIATESHIP EXAMINATION
- MARINE UNDERWRITING
T3] (et 3 : 100
Time: 3 Hours) ' [Total Marks : 100
meﬁ%mmmmmmé mé‘ﬁanaﬁmw{f%c
30wl WS WY 12 sim k¥

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(massga?y

1. %) @WW%W&M%%WWWWW
Fot Wl it ey i
@) Wﬁmm@fhﬁ%mmqﬁmﬂﬂmmm
|

. a) Asahull underwriter which factors would you consider importantin - § each
order to determine the premium for a ship ?
b) Describe the method of determining rate of premium for hull nsks
other than renewals,

(T 4 37%)
2 mmﬁmmmﬁﬁmmmmmiﬁ%mm

TR 3 A T e -
F) TR

g Rem

M Fhaf

2. Describe followmg extraneous risks and give examples of commodities 4 each
- which are susceptible to damage thereby :

a) - Sweat

b) Leakage

¢} - Country damage
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Explain and illustrate with example the method by which a Quoia Share
Treaty operates in marine insurance. '

mw$M@mmmu@mmamm
! v gt sk =l ? |

. What information would a hull underwriter need if offered the proposal
- of a fleet of fishing vessels and why ? \

e o R ) SR ) A - i e o e
&7 :

What are the chief underwriting considerations affecting the acceptance 12
of cargo risk? '
: (T & 4 3i%)
Praferiat TIet 3 SFOTH 4 & 8 - o e T W A -
F) T . g i
g IWFW .
1) TR e A A |
Discuss the underwriting features associated with transit insurance of 4each
following goods : ‘
a) Cotton in Fully Pressed bales
b) Coffee beans
¢) Asbestos cement sheets

e % ot apee gt & e el dhreardt S it 9 o
T ) g et i §feee oTen Feita ged |-10-83 3 WA 9 e
fad?

How is shipowner’s liability for pollution or contamination of environment
covered? In this context, what is the scope of the Pollution Hazard Clause
of Institute Time Clauses Hulls, 1.10.837 '
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10.

ummwmammmmammammm
eepell B o o T 7

What physical features relating to port conditions would you take into
cons:deranon while underwriting a cargo risk?

‘ ﬁmm@mmmﬁﬁ#ﬁmﬁaﬁmmﬁmﬁa

TR & G Q9 B R @ 1 -
R X s demi e 3 el A g S R s e w8

“The packmg must be at least adequate to protect the goods in normal

circumstances against the risks of the contemplated transit.” -

Critically examine to what extent is this statement justified in case of
bagged cargo.

mmmwmmmamm m%mamt@
fed?

If you are. offered the “tail-end” of a risk, how will you deal with it from
the underwriting pomt of view?

.83
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ASSOCIATESHIP EXAMINATION
MARINE INSURANCE CLAIMS
3] : [T 31 : 100
Time: 3 Hours} [Total Marks : 100

Rt o3 WAl 35 S ARAT | W 9e 3 16 3t § g Ig P T ¥
| o At e W 12 3 H ¢

Answer EIGHT questions only. Question ONE carries 16 marks but this is not

compulsory. All other questions carry 12 marks each.

: Mark
| gt e 500 7 1 s o ot e o o, P 16

£ 2,00,000, 7 e, 3 e s il Fwia “¢ 3 i A
o & 1 P s e o 8 -

o 7o

y _ c

200 IR T F, £420 TR TR RE : 84,000

200 T 3EE F F£00FR AR : 60,000

100 7 33 Y ¥ £ 450 WA A TH : 45,000

: 1,89,000

R W miEwwae - 10% : 4,500

‘ - 1,84,500

e : 1,000

LIS : 2,500

A - - 2,000

,90,000

ﬁawm%msﬁr{‘qfézoommgﬁmﬁamﬁmhmm

AR AT LT T e o R & R A £ 1,800 A TR R 1 A A S

R e Rl TR Y R e Y 3 20 e & I € 1 % 7T 20%

%me%m@mmmaﬁ%i ‘

TR 3 A R T S R W S 10 AR S € 1 £40 ¥

' ﬁé%@éﬁmﬁf&aﬁ%aﬁﬁ£3,800W(£3,600ﬁaa)q@?1
o | A 3 S e G O £ 500 3R 3 & |
e 37 § £ 250, Rrd 3 e 2 aren T |
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" Survey fees are £250.'State the claim under the policy.

A consignment of 500.pieces electrical units, shipped from Mumbai to

London, is insured by the seller for £ 200,000, so valued, under Institute
_ Cargo Clauses (A). The sales invoice states :- .

. , '
200 pcs. unit ‘A’ @ £ 420 each : 84,000
200 pcs. unit ‘B’ @ £300each -~ 60,000
100 pes. unit ‘C’ @ £450 each - : 45,000

o - : - 1,89,000
Special discount on unit ‘C’ 10% - o 4,500,

, : 1,84,500
- Packing o : 1,000
Freight o 2,500

Insurance : 2,000 i

_1,90,000
A fire on board severely damaged 200 pcs. of unit ‘A’ so that they were a
total loss. Consignee receives £ 1,800 from the sale of salvaged parts.

20 pes. of unit ‘B’ are damaged by water used to extinguish the fire. These
are accepted by buyers at an agreed depreciation of 20% .

10 pcs, of unit ‘C’ are damaged by rough handllng in transit. After repairs
- were carried out at a cost of £ 40 per unit, they were sold for £ 3,800 gross
(£ 3,600 net) against a gross sound value of £ 500 per unit.

%) @aga%vﬁqqhﬁémw?mnﬁmr%?l@é‘mmmw
% R safes 18 Wi B &, R w3 @ 1 @ | Rom-Eey
T I I & R e 3 A v & o @ 1 sheee T
AN T 1.10.83 % e At & | R Tl & sienk < v e
aﬁmaﬁzwﬁamwnﬂwﬁmmaﬁa}mmﬁm%
w7 7

|) mﬁwm%m@mwmm(éam){ew%
ok 3% g -2 ¥ W wd woawen e € 1 98 @ R sAR-a
SR E | W SReeqeee o g 1. 1083 ST dfa d 1 7w
m%mﬁamwﬁwé"
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A multi-purpose vessel is, loading tractors on deck One tractor is 6 each

too heavy for the hatch cover on which it is being placed. The hatch -

cover breaks and damages the coaming. The vessel is insured subject
to Institute Time Clauses Hulls 1.10.83. Under what clause would
the claim be put forward and what defences might be open to hull
underwriters if they wished to resist the claim?

As a consequence of a latent defect in the manufacture, thie tail shaft
of a vessel, insured under Institute Time Clauses Hulls 1.10.83,
fractures and is replaced in dry-dock ata heavy cost which exceeds
the policy deductible. Is there a claim payable under the policy?

(REF 43&)

mﬁwﬁﬁwmﬁmm%mﬁmaﬁmm
e B & -

¥) e o g TRem

q) I A e

) o g S

Explain the principles that govern computation of insurer’s liability in 4each
respect of : - ‘
a) general average sacrifices
b) general average expenditure
c) general average contribution

frferfiae & € & R & -
%) FamamRem
9) Wmmmwm@am

* Distinguish between
a) Subrogation and Abandonment
b) General Average Expendlture and Salvage Charges

S SR, 1865%_313"3@%@%%#%@@%%?

What are the salient features of the liability of road carriers under the

Carriers’ Act, 1865 ?
56

12

12




AG -66

AT F 3 %)
6. Mmmmlloss%mmﬁamﬁamm%- ‘
&) vy g @
®) o T A
) el wog

%) Gt

6. How are the following, treated under the Insurance Time Clauses Hulls 3 each
1.10.83 :
a) Particular average claims
~ b) Unrepaired damage
¢) Temporary repairs
d) Successive losses ?-

7. ﬁmmﬁmﬁ%m&umﬁmm-mmﬁ 12
TSR0, W, dwwwr 0 w.4,00,000
mw%wmaﬁloﬁ@émm : ¥. 1,00,000

Fo1 &, 4 g (o) e " ¥.5,00,000.
- ﬁi‘am%ﬁtﬁﬁmmémﬁmﬁhm@amwﬁ
FAN N BRI E. 5,50,000 Ry
wfvaf = R R e«
TR 3 SR 3 3 R ot @ 3t 473 oia: taiama

- mw%mmmﬁmamwmmmlm
R & 33 Far | 3 A A . 12,000 37 703 o Rk 3%
TAWE, 9,000 Xft i (Weer) 31 T |
W%memmmﬁﬂiaﬁx@?ﬁﬂ%ﬁmﬁmqﬁ
Gl

- RFaTRE. 2003&!95&101?1@6 3003 |

7. From the following data, draw up a statement of claim for submission to 12
_ underwriters : :
' Invoice Value
20 bales cotton goods type ‘A’ CIF ) Rs. 4,00,000
10 bales cotton goods type ‘B’ CIF Rs. 1,00,000
Total CIF invoice value Rs. 5,00,000
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These are railed from Chennai to Mumbai and are insured for
Rs. 5,50,000 subject to Inland Transit (Rail or Road) Clause ‘B’ i
Particulars of loss/damage are as under :-
4 Bales ‘A’ totally damaged by fire during transit.
5 bales’ B’ damaged by water used to extinguish fire. They were
sold in damaged condition. Their sound market value was Rs. 12,000
per bale and realised Rs. 9,000 per bale gross.
1 bale type ‘B’ was lost in transit and was not available for delwery

Sale charges were Rs. 200 and Survey fees Rs. 300.

RAFF 6 3%)
m%mmmm%mwmmmmm
T
F) m%mﬁﬁmmmﬁmﬂmﬁwm
@) FO0 B g arch R fmafa

How is measure of indémnity calculated under a valuéd policy for :
“a) total loss of an apportionable part of cargo
- b) particular average damage to cargo?

Wﬁ%mﬁgﬁ-zﬁn%@ﬁﬁﬁﬁma@%? | 12

How areidry-docking expenses treated in the assessment of hull claims ? 12

. Pt R R ford - (RFE 4379)
%) qrafas S e

@) A (TeE) 9 fease

) “foreE A A T T

. Write short notes on the following :
a) ~ Actual total loss

b) Frustration of adventure

¢) “No cure, no pay”
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ASSOCIATESHIP EXAMINATION
n MARINE INSURANCE =~
gmi3we)] [T 3 : 100
| Time: 3Hours] [Total Marks : 100
| wmm%mmummﬁmméﬁﬁwmﬁﬁf%l
FaTRTRAT T 2 siwmHE

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks cach.

_ Marks
~ (mémm) _
L. ,@m%wﬁmﬁmﬁmﬁﬁmwmmm%ﬂﬁ
F) TAHIER L
|) mammmm
1) -
9 Tt 1 3 |

I As an underwriter how will you assess the risk factors mvolved in the 4each
following :- ,
a) Nature of cargo
b) - Tail-end of a risk
¢) Deck cargo
d) Packing of goods

2 mm%mmmwaﬁtmmﬁm% (R % 4 37%)
%) ReSE R FEee (D) ‘

\) ReEgE TR (Fm)

) SR TR (3 37T 3g) e T

2. When does the risk attach and terminate under the following Clauses : 4each
a) Institute Cargo Clauses (A)
b) Institute War Clauses (Cargo)
¢) Inland Transit (Rail or Road) * Clause ‘A’
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o R e 3 PR v A e - (TR & 4 37%)
) eI Bl SR |

@) A g

o) e s/ e & v B E |

In an open Cover, what are the conditions regarding: - - 4each
a) basis of valuation

b) declaration of shipments

¢) loss prior to declaration and/or shipment

(m%aﬁ)
3) Wmmemﬁ%mm w.wsqaﬁaﬁuaﬁ

TN |

¥ Prff@IsafomEg
i) R
ii) Wﬁ’r#m?

a) Briefly éxplain the six aspects necessary for an entitlements to a  6¢ach
General Average Contribution. :
b) Whatis meantby:
i)  Contributory Values,
" ii). Amounts made good?
(T ¥ 6 37F)
‘ maﬁmmwwﬂﬁ@mﬁﬁ mﬁvﬁmﬁﬁmﬁmﬁﬁﬁﬁm
e -
F) o g
®) U S aiferei ?

How is liability for loss proximately caused by maritime fraud dealt with 6 each
in:-

a) cargo insurance policies

b) hull insurance policies?

. ®) mmmmm%mmmaﬁwﬁ
@) mmmmwmﬁmé TR P A ahrm R ?
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a) Listthe documents required to support a cargo insurance claim. 6 each
b) What is the procedure involved in treating marine claims that are
" payable abroad? ‘

@mm%mﬁmﬂwﬁmaﬁmﬁﬁm#wﬁﬁ% 12
feemggady

As a cargo underwriter, what recommendations would you give to shippers 12

with a view to improving adverse claims experience?

TS et/ ZTerd & e i - ' (7% % 6 37%)
%) g Atem At & s § 2 '
) 3 3 Fver % R e el 9 s ad 29

In case of fishing vessels/trawlers - ' " - 6each

‘a)  what are the provisions of Adverse Weather Warranty?

b)  what documents are required for settlement of claims? ‘

P e el 5 i 5 - | (RF 5 6 3i%)
F) IS MRS 7 ? ; ’ :
q) dmrdR Puffa o 29

" In respect of Special Declaration Polices : ‘ | 6 each’

a)  what are the eligibility criteria? _
b) how is the sum insured determined?

. Praffe v e ot o - | | RwF43E)

) Reege ez (sfreme) aciisr |
B) P v .y Py v |
M) Ry | ;

Write short notes on the following : 4 each
a) Institute Replacement Clause -
b) Free on Board contract of sale

~.€)  Quota Share Treaty.




ASSOCIATESHIP EXAMINATION
- "AGRICULTURAL INSURANCE
T 3 ) ; [ 100
Time: 3 Hours] [Total Marks : 100
et o1e wERl 6 IR RN | TR U % 16 st § foreg Tg fE TE B |
s vRE T 12w H T

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

1) % 2006 2 e 5 e et S sl ot G R ! 4 v A Mers

mwmm(@qa@@)%mmméumm
0T 1 377 R AR §
‘ HUH Tehg L Ul
i) | 3T e HOT % 15000 | ¥ 12,000
ii) | v YerEr &1 7 |®.18,000 | ®. 15,000
sitd deER & 150% H1 T €.30,000 | ¥. 36,000
e g0 A T S i €.25000 | ¥. 20,000
v) | Sy e ‘
-ge: 2.5% 3.5%
- TFgARIE 2.25% 8.0%

2 5 S, 4 AR g R ae e A, P 3 e 3 3
e S o R 2 7 :
e Y 5 10 1 Ieerd HT | ,

A farmer growing Maize and Groundnut crops during Kharif 2006 is
covered under NAIS: The crop loan availed, and the other details of
which are as follows :- - ,

‘Parameters T Maize | Groundnut
i) | Crop Loan availed . Rs. 15,000 | Rs. 12,000
ii) | Value of Threshold yield Rs.18,000 | Rs. 15,000
iii)| Value of 150% of Average yield |Rs. 30,000 Rs. 36,000
iv) | Sum insured chosen by the farmer |Rs. 25,000 | Rs. 20,000

v) | Premium Structure : . ‘
- Flatrate 2.5% 3.5%
- Acturial rate ' 2.25% - 8.0%
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On the basis of the above information, what was the total premium-
paid by the farmer for insurance, assuming no subsidy? :

ii) What are the characheristics of the Indian Agriculture? 4
e R N (% % 6 37%)
i) . 3 Sifem # wh | ‘

if) - erprerelier i & wer o 2 <t v |
i) YRR e iR ¥ siot e sEfy |

- Discuss any two; . ' 4 6 each
" 1) Nature of Hail risk , -

i) Problems associated with crop insurance in Developing Countries.

i) Period of insurance under Horticulture/plantation insurance policy

Frafeiiem 4 et i 3 dra s wre e - (% F 4 37%)
i) weadmshuem S |
if) - FAGE Whe ST & Sitr AR 791 SR Y T X |

i) o SRR g stk s safee e o R |

iv) ;ﬁw@zmmam\mqmmg.

Differentiate between any three of the following: ~ 4each
i) Crop insurance and Relief L
- 1) Premium rates of Broiler and Layer under poultry Market Aggreement
iii) Benefits of Gramina personal Accident and Janata personal Accident
. Insurance o - :
iv) Long Term discount & Group Discount under Agricultural pumpset

Insurance policy

S (0% % 6 3i,)
) gzﬁwﬂzmmxh‘ﬁwaa’w‘maﬁﬁml ,
q) smmm%mmwmmm@mm

P § - .
WA A (o) e (e
1 3 15

2 15 16
3 12 17
4 8 20
5. 14 22
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7 15 28
5 et ) ‘s’ % w i g R TR W e & 9 S
o el aftn ¥ 3 o e ot et 7

a) Statethe ‘Scope’ and 'Applicability' of Agricultural pumpset Insurance. 6 each
b) In a poultry farm with a batch of 500 Broiler birds, the weekly *
mortality for 7 weeks is as follows: :

mortalty Tor / s e

Week Mortality(birds) Valuation(Rs./bird)
3 :

T | 5
2 5 16
3 12 S ¢
4 8 20
5 14 22
6 7 25
7 15 8

With 5% mortality used as 'Excess’, what is the amount deducted
from the claims payable towards mortality? ' ‘
(% F 4 3F)

) vemREEATE

if) e 1 S ) T e e A o e O |
iii),mmﬁﬁ-mﬁmmn -

iv) SR T A v e RrtaRa |

Explain any three from the following with reference to NAIS: “4each

i) Eligibility of Farmers for coverage
ii) Sample Size of crop cutting Experiments for estimating yield

" iii) Loss assessment in case of localized calamities
iv) Roles & Responsibilities of Implementing Agency

e 4 Rt e s e o : (¥ ¥ 4 37%)
i) ol R :
ii) PR

- jif) ‘AR ameTRe e v % WY gy S |

iv) TR
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Write short notes on any three of the followmg 4 each
i)  Agrarian Reforms. "
ii) Anthrax )

. iii) Problems associated with Indmdual Approach' based crop insurance

iv) HoneyBee insurance

mmmmwmmamm (%5 3 4 3i%)
i) A (s A A )

i) 4 & & 2 e ufn o

iii) aﬂwgsﬁwﬁw@a(qﬁw)l

Explain the following features of Cattle insurance Market Agreement 4 each
i) Insurance Coverage (Standard & PTD) : '
if) Claims procedure of PTD

- iii) Scope (defi inition) of Scheme animals

Ml o (% 6 %)

7) M AR |
a) ﬂamﬂmmmﬁm(ﬁwwﬁmﬁ%dﬂn@aﬁhn
Elucidate - 6 each

a) Principal Benefits of Agnculmral Reinsurance
b) Risks coveredunderP:lotSchemconSeedCropInsumnce(PSSCI)

mm%m%WMﬂﬁmmﬁgmu o

Discuss different criteria for classifying crop insuarnce with suitable 12
. examples.
.‘méagqm&ﬁqhm'wwthI (9% 3 3 33%)

i) mﬁmﬁmﬁﬁéﬂaﬁm#aﬁmﬁﬁﬁmmm%a

i) mm%mwmﬁw%mm%mmm

JE |

iii) mwmmmMaﬁMaﬁmmm
e

iv) W(W)aﬁm%mmﬂﬁwsﬁﬁ%ﬁQMWM ‘
S TR
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10. State 'right or 'wrong' and explain why it 1s s0. 3 each
i) Crop insurance is a means of protecting the farmers against
uncertainities of farm incomes.
i) Indian breeds of cattle are utilized in other countries for genetic
transfer of qualities.
iii) NAIS covers (insures) all commercial/horticultural crops.
iv) Broiler (poultry) is covered under insurance from 1 dayto 18 weeks.
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MAY, 2007 _
Tiex siar
ASSOCIATESHIP EXAMINATION
| ) MOTOR INSURANCE
RiLoskh-cy L [ 100
~ Time: 3 Hours] * - [Total Marks : 100
vaﬁ%maﬁmmmt 16 3fe ¢ forg g rfvawd i €1

I Tf T0E U 12 SiE H E |
‘Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questlons carry 12 marks each.

Marks
1. ﬁaqﬁwwmﬁmmﬁmﬁaﬁmmq&ﬁm@mm%ns@m 16
e & e 3 ot e et 2

1. Motor Third Party liability claims are a financial drain on insurers. What 16
different measures would you suggest to reduce the same?

2 e i s A A 12
& R e e el e €71 2

2 As a motor underwriter what aspects would you consider for acceptance. 12
of two wheelers for insurance under Motor Package policy?

3. Pt 32 3 o e i e A | “ 2
3. Describe the procedure td be followed for pﬁvate car theft claimé. : | 12

4 ﬁa(ﬁaﬁ)m%mﬁ&m&f%maﬁwaﬁma g 12

4 Explam the principle of Indemmty in relation. to Motor (own Damage) 12

' cover. ~
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et v W it Rroaforat Refa -

) e Tgd AT

9 mmmam@mm
¥ AR

3) e e 4 % i mﬁm
7) W AE - AW

Write short notes on any Three :-

a) Jald Rahat Yojana

b) Add-on covers under Liability only pollcy

¢) Cover note

d) "Limitations as to use” under commercial vehical insurance.
e) "Motor Vehicle"- definition. :

%) e e AR 3 sk e s e 3 gk & e o |
7
) ﬁaiﬂmumwméﬁ"

a) What are the provisions with reference to transfer of ownership of
vehicle under the Motor Vehicle Act?
b) What are its implications for Motor Insurance?

ymmﬂﬂmmma)ammmﬁmm'

Describe in detail the functions of Motor Accident Claims Tribunal
(M.ACT).

ﬁaaﬁ?(ﬁﬁﬁ)@%mmﬁmqﬁ#ﬂml

Describe various discounts available under Motor vehicle(own damage)
section. '

P o R L VL L)
@) friweR sk El : '

@) e Sl AT WA SR
7) wew sk whteww
7) W st 3w
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9. Distinguish between: (Any Three). , . ~ 4each
a) Special Damages and  General Damages.
b) Subrogation and Knock for Knock Agreement
c) Spot Survey and  Reinspection survey
d) StageCarriage - and  Contract Carriage

10 @ﬁaﬁmaﬁwﬁémﬁm@m?ﬁm%mﬁaﬁ
- RO 1 3 o P R, R Y e e TR @

0

|
¥) TRARR A i . 50,000/

3) mm;ﬁm : % 10,000/

%) WIEEHTEE  : w. 5,000/

}) Tidteh o ¥.6,000- ,
ﬁa&mmm%mﬁmﬁmm#mmam
ﬁmaafaﬂéaaraﬁma?m;‘

10. A private car collided with a truck ahead Repairs estimate were submitted 12
to the insurers. They appointed a surveyor who provisionally estimated
the loss as under.
a) Damage tofrontside : Rs. 50,000/-
b) Damagetorearside : Rs. 10,000/-
¢) Damagetoleftdoor : Rs. 5,000/-
- d)  Loss of two tyres : Rs.6,000-

Calculate insurance liability under the terms and conditions of private car
package policy, before deduction of an excess . '
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waferrTa geien, sl we fferer aftam
 ASSOCIATESHIP EXAMINATION
PERSONAL ACCIDENT, SICKNESS & MISCELLANEOUS

INSURANCE
[qH ;3 Ee ) - [Fer 3 100
Time: 3 Hours] ' " [Total Marks : 100
fall o1 TR & IR ARG | I uv ¥ 16 3tk § fireg ag et T R
e R W 2w H

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

CRE S

1 %) DR i sia, STERE TR R ST AT vl g @ i
i el & sief 9t o 2, 3 iR
9) mmﬁmﬁm%mmwﬁm
TIYEUE] P T HIT |
w) e el d % sieia e i H e R |
37) T AREAw v 1996-97 i s 3g AR E. 3,00,000 3 fere
7 ot | wiforh 3 oy ity &g and 2002-03 e el fevar ma 1 59
* ayafr & 2N Tea A S & U @ @ Freern T o oo &t el
2003-04 ¥ 78 5 SR E. 5,00,000 3 r Feig e 1 oifert
3 AR 34 ffy 3 g R e 1 wierd sy 2006-07 # dftw
= 3 i A g A Al g 1 sTER . 7,00,000 1 ST S
mnm%mhmamm.

I. a) Mention the heads under which hospxtahzatnon expenses incurred by 4 each

an Insured person are reimbursed in Mediclaim policy.

‘b) Define the criteria laid down for Hospital/Nursing Home for
admission of a claim in Mediclaim policy.

¢) . List out the diseases exc]uded under the Domiciliary hospltahzatlon
insurance. ‘

d) A mediclaim policy was issued for Sum Insured of Rs 3,00, 000/ for
the period 1996-1997. The policy was renewed for the same sum
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Insured till the year 2002-03. A claim of heart ailment was settled

during this period. The policy was renewed for enhanced Sum Insured.

of Rs 5,00,000/- for the period 2003-04. The policy was renewed
continuously on due date. In the policy period 2006-07, the insured
person suffered again from heart ailment. He incurred Hospitalization

. expenses of Rs 7,00,000/- for treatment. Calculate the amount payable

under the policy.

wmmmm%mﬁmmmmmam
T, g R W R g T g e i

W:itc a detailed note on Group Personal accident insurance policy
including features like type of group, coverage, discount etc.

) mmm%mmqﬁmﬁﬁmmmm :

9

 fferae o 9 feedi offer W it fReouftrad forfa -
#) e dierd 3 waw af 3 sl B AR |

%)
%)
%)

R < e & 2

3 Wi 7 FeorE AR R skt siatds AfTaw TR 39

SRt 3 PR e ST e 3 g e & R e 3
e & srera R e wwdA R o

mmmﬂmaﬂmmmmmm

ooty 13 3 R st 7 o T g 9 At 1

Under what circumstances a Corporate frequent Traveller Policy is
issued in overseas Mediclaim insurance ?

Explain the situations under which overseas mediclaim Policy for
employment & study pays compensation to a sponsor who provided

- financial support to the student for overseas study.
.Mention the important declaration which a proposer makes in the

proposal form for issue of overseas Mediclaim policy.

et e wiereht e P |
ST e viterdt % st e 1 effaHor |
wfereg TR viterst ¥ st 2 vt

T e witerdt § RV
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. Write short notes on any three of the following :- ,
a) Application of first year exclusion in mediclaim polxcy
b) Special features of student safety policy.
¢) Classification of risk under Personal accident policy.
d) Refund of premium in Bhavishya Arogya policy.
e) Assxgnment in Personal accident policy.

%) mmmmﬁmwﬁaﬁww

7) frd AN 9 v dhrd $ st sl R s W R e @t
gt arvafdia vt € 7 | |
% Yol saaiys Rw dRrh § il &, 30,000 2@ S fEa
T 1 e yrar 3 wiferdt & sienfa i AR E. 1,00,000 o w3
T SR T SRR & e €. 3,00,000 &1 liﬂwm:m%wﬂraﬂ
TR HIFT |

* Describe the important conditions incorporated in Burglary Business
premises policy. :
What type of losses are excluded, when a camera is covered in All

- risk policy?
A claim of Rs 30,000 was lodged on Butglary Business premises
policy. The surveyor found that the Sum Insured of the policy was
Rs, 1,00,000/- and value of property at time of risk was Rs 3,00,000
Calculate the amount payable by Insurance company.

mﬁammmmmm . (7 & 4 30%)
&) it st A

3 TR

\) e snRa v ¥ 0 7R At e

?) ORI AR St

7) mmm

Wirite short notes on any three of the followmg -

a) Condition of partial average

b) Pet dog Insurance

¢) Exclusion appearing in special contigency policy.
d) Suhana Safar Policy

¢) Surplus Treaty reinsurance
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7. @) e R skt o o el ke Y, ARG | 8

9 SRR ST, AR i el R ity 4
YA T SRR o o W € L '
7. a) Mention the losses which are not covered in Money Insurance Policy. 8

- b)  Name the extensions which can be covered in Money Insurance policy
by payment of additional premium.

8. ﬁmmm%dﬁﬁmmﬁmﬁmmdﬁﬁw 12
Fifo 1 .

8. Briefly, describe,the various types of policies avalable in respectof Fidelity 12
Gurantee Insurance. ‘

9. ittt e e o SRR w12
a9 o 300 3 o R R | 5 R 5 ol v R w
o it e & s 3 of =t i

9. Adhikari Suraksha Kavach policy is issued to Executives/Bussinesmen 12 -
who frequently tour the country for business purpose. Mention the various
-~ covers offered by the policy and also basis for providing discount in

premium. .
0 i TE s e A R n
. 10; MehtiOh &xe exclusions appearing in Bankers Blanket Ind@ml;ity Insurance. | 12
..... TG ~eeme |
------ END --.---
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ASSOCIATESHIP EXAMINATION
LIABILITY INSURANCE o
W ;39 ] [t 3 : 100
Time: 3 Hours] : [Total Marks : 100
i o1 Wyt & e QRN | TAR U F 16 aiar & g g Pl T R
ymaRTRE T 12 3F R

~ Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
1. qﬁaﬁamm(ﬁ@ﬁmﬁﬁaﬂ)%mmmmm%aﬁﬂ r16

e 3 o ¥ i o ot A |

1 Dcséribe the three main phases in the processing of claims forthirdparty . 16
fatal injuries under public liability policy (industrial risks).

2. ﬁqﬁaﬁﬂﬁmmmmgmwm(rrﬁ)@m%:

) Ada aF A 6

7)  FHe gfegf o ? ‘ 6
2. How does the principle of indemnity operate in:

a) public liability insurance ' ‘ -6

b) workman's compensation insurance ? ’ 6

3.9 b Yo A T 1991 3 W 8 ord o i S A 6
e e o T R 7 o -

7)o & o s afe ) o e o T 7 2

3 dxEEn e A AR E A E ! 4

3. a) Whatis the cover provided under the liability policy issued in respect 6
of Public Liability Insurance Act 1991 ?

b) How is the premium amount arrived at under this policy? 2
c¢) Whomaybe exempted by the Central Government from compulsary 4
insurance?
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) o vl & it ‘Freiror gl ¥ e it e s @ 8 7 3

q)  FreR gl o S simia Mt 3 o R g o 2 2 3
¥) mm%mmﬁwm%wmmﬁmﬁaﬁMW 6
ﬁm S el % ?
a) Under what laws does the Emyloyer s liability for employment \ 3
accidents' arise?
b) How is the premium arrived at under the workmen's compensatlon 3
policy? -
¢) What extensions of cover at additional premium are avaxlable under 6
- this policy?

, mmm(mm)ﬁmmﬁMQMW 12
ng@ﬂﬁmmaﬂfému

Specxfy any eight major items of information in. the proposal form for 12
public liability insurance(industrial risks) .

) mmﬂsmw%mmmnmﬁamé?

3

), SrE < wifereh & Rfire syl & e A | 9

. a) Mention the laws under which liability for defective products arise? 3

b) List out the exclusions which are special to products liability policy. 9
ﬁﬂmﬂv aﬁmﬂﬁu: (mam %) ,

¥) FHeRAl i AREE ¥ R Fraen & g
) 3 o eeardt 3 fore it () # e )

Explain the following: \ ~ 6each
a) Employer's liability for negligence of employees and
b) Principal’s liability for neghgeme of contractors

mmmmawmmmm@mmﬁ 12
mﬁamﬁwﬁaﬁmmaﬁht{n

Write altter to a five-star hotel explaining the extensions available under 12
public liability policy (non-industrial risks) .

75




0.

10.

AG-74
A S e (el sifew) & e H : ]
) g Foits & waEr ) e A | 8
) I SESH AU AN Wmﬁ@m%mm 4
e |

* With reference to public liability policy (industrial risks) :

a) Describe the provisions of Indemnity clause 8

b) Mention the exclusions which in fact can be covered under other 4
policies. ‘ _

el A R it Rt o - (7% % 4 3%)

&) gfees AwEm # fram |

9) PRl T iR & afim |
W) 7 F. Wk QT S HEe |
?) mﬁmmm.

Write short notes on any three :- ' 4 each
a) The Law of professional negligence . '
b) Directors and Officers liability .

c¢) Liability insurance practice in the UK market .

d) Liability Reinsurance programme in India .
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ASSOCIATESHIP EXAMINATION
ENGINEERING INSURANCE
g 3ue] , ‘ [ 31 : 100
Time: 3 Hours) {Total Marks : 100
ot 318 et 36 I ARIT | worm we & 16 97 b g s A )
= weft vRlm v 12 sl )
Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. Al other questions carry 12 marks each.

Mark
L 30) SR weaw i et & i P & e

= i :
i) dmufy,
i) 3,
i) @Y 3 Froer a1 aR qe,
iv) T & e
T) Mmm%wﬁ%mmﬁ#ﬁqéﬁmﬂﬁmm 4
iferd S 3 <1 g @ |

1. a) Discuss the provisions regarding : ; 12
i)  Sum Insured, ' '
i) Excess,
iii) Basis of loss settlement and
iv) Reinstatement of Sum Insured .
in respect of contractor's All Risks - Insurance Policy . - .
'b) Name any eight types of works for which a CAR policy can be issued. 4

(T & 6 37%)
2. ¥) mw(m@mm%mmmm&mm

T) mmwmm@mmmm«m
gIfeTe |

2. a) Describe the scope of cover underaDetenoratxon of Stocks (potatoes) 6 each
- Insurance policy.
b) . Discuss the technical controls & underwntmg considerations
associated w1th it.

77




- AG-T1
ﬁrqmaaﬂm (7 % 3 3)
) mmﬁaﬁm%@mﬁamﬂwm | |
) mmm%mmﬁwgml
w) < e o a6 < |
%) e St arftifam 1948 |

Explain the following: ’ 3each
a) Underwriting considerations for Machinery Loss of Profits Insurance.

b) Increased cost of working under the Electronic Equipment policy.
c¢) Section 64 VB of the Insurance Act .
d) Indian Factories Act 1948.

(S & 6 37F)
¥) M%mmmmmmmmmmmw

Ff |
) 3 uiferdt & ofeia Iuer forari it =l AHNIT |

a) Enumerate the exclusions which normally apply to-a contractors Plant 6 each
& Machinery Policy.

b) Discuss the Extensions available under this policy.

ol 8 s e o R A A moRe w12
A S et e 3 el sar <1 g W ST |

Discuss the need for & importance of Re-insurance and explain with 12
examples the methods of reinsurance traditionally adopted in Engineering
Insurance.

1) SR 3 ST R A e ) ) R (R H6)
9)  goligee e U wRiR % S G o S 1 A |

a) What are the main typés of Pressure Plants other than aboiler? 6 each”

b) Describe the common hazards associated with Electrical plant &
machinery. '

e e, B PR e SR e 1 S e & - 7 A 2
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"Good housekeeping is the key to loss prevention and risk improvement”.. 12

- Discuss. '
. N (% % 4 37%)
mﬁéwmﬁmwmaﬁmﬁﬂkmm%mm
I AT - ' ‘
) W RS e w
9 R
9) . 29RR e
3) TR IRRT

Name the type of plant & machinery commonly found in any three of the 4 each
following : - '

a)  Hydro electric power station

b) Paint Factory

¢) Textile Mills

10.

d) Hotels & Restaurants

) mvﬁ@nﬂmﬁh@%ﬁqwmmﬂmﬁé? '8
%) IR W o 0 R g WA R R 4
e 8 8 7 |

a) What underwriting information will be required for an EAR insurance 8
policy? ' o ‘
b) Which aspects need special attention while underwriting the above 4
policy.
%) - Rew e 3 el St Y 0 o e o e A 3
%) S Pl w R AR € 9 g
a) Describe the Risk managemem stages and discuss their importance. 8
b) What is the purpose of risk inspections? : 4
..... TUTE -onee
...... END -----.
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ASSOCIATESHIP EXAMINATION
MISCELLANEOUS INSURANCE
W36 ' (g 37 : 100
* Time: 3 Hpurs;] ‘ C [Total Marks : 100
o T3 WA s S AT | e W & 16 30 & g g et T 4
e el TR T 12 Am

Answer EIGHT questions only. Question ONE carries 16 marks but_this is not
compulsory. Al other questions carry 12 marks each.

%) JEmERdm Y . |
wm%m«mm@ﬁ,mm%ﬁmmm%
JeBR e it o v ot e fore o R |

_ﬁwﬁ.mmmﬁ@aﬁaﬁmmﬁmml

Marks
10

What is Burglary first loss insurance 7 Explain in detail aspects of
rating, fixing the sum insured, types of property covered and
application of condition of average under this insurance .

List out the questions which appear in a Burglary insurance claim
form . :

A Tiferd & o sraeiAl & Ieag HINT |

- Specify the exciusions which are included in a mediclaim policy .

) s e T i s v P T e
T AR |
a) mm%m%m‘@wm’amwm%?

2) Describe the various types of policies available under the commercial
fidelity guarantee insurance . ' 7
b) Whatis meant by ‘period of discovery' in the above type of insurance?

50




SRR , _ AG -78
¥) o v St R wfRd vl A AT AR | (7E ¥ 6 37)
q) . qefy/re B HRE R A d R drere @ aff e 0§

 fRr v et 3 vy S fafte Rt o=t AR

a) Enumerate the exclusions which are normally incorporatedinaMoney 6 each
Policy .
b) Describe the different methods available to the insurance company
_for providing indemnity to the insured in the type of insurances,
covering property/goods.

frfafan o 9 ferfl et W ity Rrwftrat Rk - (73 F 4 3i%)
¥) qeifera witerdt

q) iR e d e, ‘o st i e

¥) Fage dH gaw e g2 :

?) faworsfomadm

) e

. Write short notes on any three of the followmg 4 each
" a) Valued policy .

b) ‘onduty' - 'off duty' cover in persenal accident insurance.

¢) good feature discount in poultry insurance

d) Special contingency insurance

e) Salt works insurance.

) mﬁwg&mﬁmaﬁqmmwﬁzﬁmm%smiﬂ@m 6
FROT WL FIRA | |

%) SR g 4 wiferdt 3 siet v e o e E 7 4

w)  safrmTgde i & e it 3 e w Suem 2 srftife wet 2
() a1 3 Ff |

a) The personal accident insurance is deemed to be a benefit policy. 6
Why is it so ? Elaborate, giving examples . '

b) Which are the free additional benefits available under the individual 4
personal accident policy ?

c) - Name the two extra benefits (extentions) provided, for which 2
additional premium has to be collected under Personal Accident
Insurance .
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(7T F 6 37%)

H) Ao aoiie VAR iferd & Rt @l & siaria Sucied Sy wegoR @t
e HRT | '
) Jore aforgfef v & il F farafiRae 3 e iR
i) e |
i) [
iii) qeeAndt srafy
iv) afReadmotn

a) Specify the cover available under the different sections of the 6 each

Jeweller's Block Insurance Policy .
b) Explain the following in connection with Banker's Indemnity
Insurance: "
i)  Excess
i) Re-instatement
ili) Retroactive period
iv) Additional sum insured .

mmm«mﬁ@ﬁzml

Write a detailed note on Householder's Insurance Policy .

mmmmﬁm@a%mmmmmm |

eI |
3) P s/ Fe e

- §) kT QR @s

Describe the cover available under the Videsh Yatra Mitra Policy inthe

following Sections .
a) Medical expenses/repatriation Section
b) Personal liability Section

gy e & Sl Suwe S e & aviv gef el e BT |
10,

Describe the cover provided under Cattle insurance and the relevant
exclusions .

12

12

12
12
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ASSOCIATESHIP EXAMINATION
LIABILITY AND ENGINEERING INSURANCE
T 362 ] [ 3 : 100
Time: 3 Hours] [Total Marks : 100
fé:%’fanawq‘r%ma"rﬁlq | WA T 16 3ie § forg g rPraref T 4
FF R TS T 12 3m & E )

Answer EIGHT questions only. Question ONE carries 16 marks but this is not
compulsory. All other questions carry 12 marks each.

Marks
(0% F 8 37%)

) ﬁﬁqﬁﬁ:%méﬁ@mw:ﬁ@rmﬁm N eTRar e
FAF T IR S TEm e |

%) SRR e MR ifereh 3 st et sy e e e v o
Juere Sty SReror ) ==l A |

I. a) Explain, with examples of case law, the four conditions to be satxsﬁed 8each =
to establish negligence .
b) Describe the coverage under Contractor's All Risks Policy in respect
of Material Damage and Third Party Liability.
(% % 6 %)
2. méaﬁwmm(aﬁeﬂmaﬁfm) %fmﬁmﬁwﬂ%mmm

it et Ao -

%)
q) g

2. Describe the coverage under the followmg extentions of public liability 6 each
policy (industrial risks) :
- a) Pollution
b) Transportation

(I & 6 31)
3. %) sl e 3 e aw i 9 ard we A st AR
3) mammﬁgmmmﬁmmﬁmm,
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a) Mention the common questions in the proposal form for non-industriai 6 each
risks.
b) Listout the additional special questions in the proposal form for hotels.

e e e R et o : | (3 % 4 37)
¥) FHeR Ry affe 1923 % R ﬁvﬂmgﬂzﬂm

) FolaE YT |

%) PRvs oo sl e .

a) méaﬁméum‘\mﬁﬁmmm%aﬁaﬁﬁmwu

Write short notes on any three : 4 each
a) 'Employment accidents' as defined in the Workmen's Compensanon
‘Act, 1923..
b) Electronic equipment insurance
¢) Directors' and Officers' Liability Policy .
d) Compulsory insurance provisions of the Public Liability Insurance
Act, 1991. ‘

3) mmm%gmw AT F IrE BT | | (A & 6 3i%)
%) 'mm&mwﬁwaﬂm

a) Mention six exclusions which are specific to products liability pohcy 6each
b) Explain the law relatmg to professional negligence .

) el i sifreh 3 e e o ST 9 AV T | g
7) e s I TRqU S 3 S B | 4
a) Describe the cover under machinery insurance policy. 8
b) Specify four important exclusions'under the policy . 4

Wﬂmﬁmﬁm%mﬁ@mﬁmﬁﬁiﬁmaﬁ 12
T A A R ?

What important items of information are found in a risk inspection rcpon 12
in respect of a proposal for machineryloss of profits (MLOP) Pollcy ?
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10.

10.

AG-79

memmm: o (Rekas)

3)
9
%)

@) s aim ek |

faferer $oifraftn wme i ot |
T8-S uiferd | ,
mmmﬁmm [

Write short notes on any three : ' 4 each

a)
b)
c)
d)

¥)

Advance Loss of Profit Policy .
Civil Engineering Completed Risks Policy .
Marine-cum-Erection Policy.
Site monitoring of civil engineering project .
S (¥ 6 97)
3 ! 1 St AN 3 T st 2 e 3 AR 3 iR |
FAE |
s el e o o ek A |

~ Mention the factors which influence insurers' retention for a 6 each

reinsurance programme .
Give an outline of engineering reinsurance programme in India .

r

; o (7B § 4 37F)
mwm(wq%m)m%mma:wham !

 wiferedt 3 3itid S el 1 SeerE RN |

mﬁmﬁﬁm@qmmﬁa%‘?

Describe the scope of cover under Deterioration of Stocks (other
than potatoes) Policy.

Mention the principal exclusions under the pohcy

What underwriting factors are involved in this insurance ?

4 each
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